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PCH: Hyperbolas Ms. Loughran
Do Now:
1. Find the axis of symmetry, and vertex of the following parabola. Then, make a
sketch of its graph including the vertex and 2 other points. ( YA
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A hyperbola is the locus of all points in the plane such that the absolute value of the
differences of the distance from two given points in the plane, called foci, is constant.
The center of the hyperbola is the midpoint of the segment whose endpoints are the foci.
The asymptotes of a hyperbola are lines that the curve approaches as it recedes from the
center. A hyperbola has two axes of symmetry. The transverse axis joins the vertices
and has a length of 2a. The segment perpendicular to the transverse axis through the
center is called the conjugate axis and has a length of 2b. The distance from the center
to a vertex is @ units, and the d tance fro the enter toa f0c1 1S c units.
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The standard form of the equatlon a hyperbola center (4, k) and transverse axis of

length 2a units, where ¢ = a” +b” is as follows:
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1. Find the coordinates of the center, foci, and vertices, and the equations of the
2 2

asymptotes of the graph of X _Y _ | Then graph the hyperbola.
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2. Find the coordinates of the center, foci, and vertices, and the equations of the

2 2
asymptotes of the graph of % - f_6 =1. Then graph the hyperbola.
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3. Find the coordinates of the center, foci, and vertices, and the equations of the

asymptotes of the graph of W 253) (x 162) =1. Then graph the hyperbola.
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5. Find the coordinates of the center, foci, and vertices, and the equations of the
asymptotes of the graph of 25y> —9x* =100y —72x—269 =0.. Then graph the
hyperbola.
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Homework 03-01

Name: Date:
PCH Ellipses Ms. Loughran
Do Now:

Sketch the graph of each ellipse State the coordinates of the center, vertices, covertices, and
foci. State the length of the major axis and the length of the minor axis.
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For #s 1— 6, write the standard form equation of an ellipse having the given properties.

1. Center (0, 0); horizontal major axis of length 10; minor axis of length 6.
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2. Center (0, 0); foci (%2,0); vertices (£5,0)
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3. Vertices (0,%5) ; foci (0,+£3)
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5. Endpoints of the major and minor axes are (+1,0) and (0,%3)
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6. Endpoints of the major axis are (—9,5)and (3,5) ; endpoints of the minor axis are
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